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2. Solve each system of equations using any method.

® 4x+2y+3z=12
® 2x-3y+5z=-7
® 6x—y+4z=-3
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Solve each system of equations using any method. Explain which method you used and why.
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3. Create a system of linear equations with one solution. Explain why the system has one solution.
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4. Graph the system of inequalities.
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5. What are three methods for solving a system of linear equations? Which method would you use
for the problem below? Give reasons or specific examples to support your answer. Use
mathematical reasoning to explain why you did NOT choose the other two methods.
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6. Adrama club earns $1040 from a production. A total of 64 adult tickets and 132 student tickets
are sold. An adult ticket costs twice as much as a student ticket. What is the price of each type
of ticket? Solve using a system of equations.
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7. Anamphitheater charges $75 for each seat in section A, $55 for each seat in section B, and $30
" for each lawn seat. There are three times as many seats in section B asin section A. The

revenue from selling all 23,000 seats is $870,000. How many seats are in each section of the
~ amphitheater?
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g Your club plans to raise money by selling two sizes of fruit baskets. The plan is to buy small baskets for $10 and
sell them for $16 and to buy large baskets for $15 and sell them for $25. The club president estimates that you
will not sell more than 100 baskets.- Your club can afford to spend up to $1200 to buy the baskets. Find the
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number of small and large baskets you shouid buy in order to maximize profit.
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